R E BB MR
(Hiph) X [H] 42 £ 299.44m

T il 1A YEER| H 7 ¥ = H #% T Pl 1A YEER| B B = H %
Sl i B b T m/H 598.88 bR 5 T m3/ f —
AR m/H — ek T m3/ H —
SRR SRR RA T 10 ut/ A — Ak T m3/ H 496.80
SRR SR HIBHA T 10 i/ H — B R T ()\77> m3/ A —
SRS SRR RGA T 10 ut/ A 292.82 BEMORRE T (m) m3/H —
SRR SR HIBHA T 10 i/ H — BRI R T (Fe) m3/ H —
EfEERR BRI A T 10~15 ni/H — LR T (Feq) m3/H
SRR SR MDA T 10~15 nt/ A — 28 S R (H=2.0m) m/ H —
EfEERR BRI A T 10~15 ni/H — HER Bl B (H=2.5m) m/H —
SRR BB EIRGA T 10~15 i/ H — W RS (H=3.0m) m/H —
SRR EBm I EDA L 15~40 ut/ A — i B (H=3.5m) m/H —
SRR 2R HURHA T 15~40 nt/H — B s AR (H=3.8m) m/H —
SRR EBm I EDA L 15~40 ut/ A — B B (H=2.0m) m/H —
SRR 2R HURHA T 15~30 nt/H — R s AR (H=2.5m) m/H —
BRI T m3/H — % f 4 5 A (H=3.0m) m/H —
AR | T m3/ A — H2 R AR (H=3.5m) m/H —
AR AR T m3/ [ 626.90 158 H B R (H=3.8m) m/H —
HEHI T (A7) m3/ A — B s AR (H=2.0m) m/H 106.81
% B KA (H=2.0m) m/H — B B (H=2.5m) m/H 43.33
0% R A (H=2.5m) m/H — B s AR (H=3.0m) m/H 77.29
% B AR (H=3.0m) m/H — 2 5 B (H=3.5m) m/H 31.01
0% R A (H=3.5m) m/H — B s AR (H=3.8m) m/H —
0% B B (H=3.8m) m/ A — AR DS (3B%) m/H —
gt R AR (H=2.0m) m/ H — SRR (2B) m/H 151.63
B L B (H=2.5m) m/H — SR (L) m/H 106.81
0% e R AR (H=3.0m) m/H — @ T (FAl - 3em) BT As (13) ni/H —
B A OB (H=3.5m) m/A — HEAE T (2318 - 10em) RC-40 ni/ A —
8¢t R AR (H=3.8m) m/H — 2 T (H5E - Som) FRLE nt/ A 292.81
B L B (H=2.0m) m/H 106.81 FJ8 T (F5H - 5em) BRI As (13) ni/H —
8¢t R AR (H=2.5m) m/H 43.33 2 T (H5E - Som) AL ni/H —
B A B (H=3.0m) m/H 77.29 FJE L (FjH - 5em) # ni/ A —
8¢t R AR (H=3.5m) m/H 31.01 JEJRE T (38 - 5em) HLk S 1A ni/H —
B OB (H=3.8m) m/H — FEJE T (H3E - 5em) SE A ni/ A —
SR R (3EY) m/ H — %*ﬁ%l(zﬁiﬁ-lom)c 40 ni/H —
R R E (2B%) m/H 151.63 HEAE T (HE1E - 16cm) RC-40 ni/ A 292.81
KR R (1EY) m/H 106.81 #&AE T (FE3E - 17cm) RC-40 ni/H —

i b AR T (HE - 10em) Y75 20 e UL m/H -
EATRL L $ 100 m/H 292.09 b A T (B - 10em) M=30 i/ H —
(R $ 150 m/ A — e A T (B - 13em) M=30 nt/ A —
i ¢ 250 m/H — - A T (B - 150m) M=30 ni/ A —
(=it $ 300 m/ A — e A T (B - 17em) M=30 nt/ A —
WYt T m3/H — AR T (FE - 10cm) RC-40 ni/ A —
IR T m3/H — T JE B T (HE3E - 14cm) RC-40 ni/A —
WHRAET m3/ H 84.06 TR A T (3 - 15em) RC-40 i/ H —
WAL T (NJ)) m3/ H —
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